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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

Il

L*/Yintended 0.0/0.0
(absolute)

W* wW* w*
setrgb
gp=1.00

No. and
Hex code

*—|*
i _|CIELAB, r
(relative)

W¥intended 0,000
W¥out 0.0

T'l=

OES30-7N, Picture A7-030-2: 16 visual equidistatvgrey steps; PS operatav* w* w* setrg
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OES53: In-output relation according to ISO 9241-306; DH
Viewing Y contrastyy:YN=88,9:0,31)YN range 0,0 to <0,46
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output 030-2: no change

input:rgb (=>rgb*q) setrgbcolort
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=g |0 LA Fout  LAB*out LaBroutic-ref  AE+ Start output S1 For linearized output of the 16 grey steps of Picture A7-030-2
S " |100 00 00 00 00 00 00 00 00 o00 o001 Specification accordingto .
2 — " - .
OW | 263 00 00 007 63 00 00 00 00 o0 oot ISO/NIEC 15775Annex G W 1,00T (d'?lSh s.tar) coordlnat'es to reach
3 9 31272 00 00 013 1272 00 00 00 00 00 oot and DIN 33866-1 Annex G w*output the linearized output with the real
QO @ | 41908 00 00 02 1908 00 00 00 00 00 001 Woutout display reflection in office room;
g ~ | 52544 00 00 027 2544 00 00 00 00 00 001 P lighter (positiv P) output
- g 6318 00 00 033 318 00 00 00 00 00 001 0.754 w . ]1_00
gg 73816 00 00 04 3816 00 00 00 00 00 001 ’ output input
OO | 845 00 00 047 45 00 00 00 00 00 001
= [o9508 00 00 05 508 00 00 00 00 00 001
_g 105725 00 00 06 5725 00 00 00 00 00 001
S |116361 00 00 067 6361 00 00 00 00 00 001 050+
'-8 126997 00 00 073 6997 00 00 00 00 00 o001 ' * (Star-dash) coordinates
= 137633 00 00 08 7633 00 00 00 00 00 001 of real output with real
o 148269 00 00 087 8269 00 00 00 00 00 001 displav reflection in office room
38 158005 00 00 093 8905 00 00 00 00 00 001 Mean lightnessdifference (16 steps) piay )
%'cr 169541 00 00 10 9541 00 00 00 00 00 00l AE*cigag= 00 0,251 darker (negativ N) output
B% 7 00 00 00 00 00 00 00 00 00 00 001 *1 =[w* ] 1.00
W= 182385 00 00 025 2385 00 00 00 00 00 001 output input
3 @ |194771 00 00 05 4771 00 00 00 00 00 001 wHinput
I_I\I-’_I B) 207156 00 00 075 7156 00 00 00 00 00 001 Mean lightnessdifference (5 steps) . . . :
~ [219541 00 00 10 9541 00 00 00 00 00 001 AL*cigiag= 0.0 N 0,00 7 ! ! ! ! !
ga Mean colour reproduction index: R*apm = 100 N 0,07 0,25 0,50 0,75 1,00 W
Z.
a H OE530-3N-030-2: File: Measure unknown; Device: Device unknown; Date: Date unknown OES531-3N-030-2: File: Measure unknown; Device: Device unknown; Date: Date unknown
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o % 6.4/0.7 12.7/1.5 19.1/2.8 25.4/4.6 31.8/7.0 38.2/10.2 44.5/14.2 50.9/19.2 57.2/25.2 63.6/32.3 70.0/40.7 76.3/50.4 82.7/61.6 85.0/38.8
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